Norsjo BK
Barometer 2019-10-16

Partavling, 6 bord, 11 par. Antal brickor: 24. Medel: 95.9. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 7 128.0 66.67  Jon Ny - Tomas Linder 57793 3301  Norsjo BK
2 1 120.0 62.50 Lars Ornberg - Bjorn Bergmark 14186 20535 Norsjo BK - Skellefted BK
3 2 101.7 52.98 Robin Karlsson - Jerker Norlund 42904 15205 Norsjo BK
4 5 100.0 52.08  Christer Nystrom - Robert Bohman 15206 17371  Norsj6 BK
5 11 97.1 50.60  Stellan Karlsson - Per Téllstrom 82295 15861 Norsjo BK
6 10 94.9 49.40  Per-Ake Karlsson - Folke Flodén 82297 82298 Norsjo BK
7 9 93.7 48.81  Christer Bergqvist - Inga-Britt Seppéanen 42898 89248 Norsjo BK
8 4 86.9 45.24  Ann Lundmark - Lage Boman 35884 17370 Norsjo BK
9 8 85.7 44.64  Leif Olofsson - Siv Stenmark 48794 31714  Norsjo BK
10 3 77.0 40.10 Ingvar Bergquist - Torgny Stenberg 27536 31713 Norsjo BK
11 12 69.7 36.31 Jan Johansson - Rune Isaksson 9696 9689 Norsjo BK
1 « D97 2 4« E83 3 «Kn1098
Nord v E86 Ost v D42 Syd v KKn1093
Ingen ¢ 643 NS + D763 ov +4
#D1097 &#KKn4 972
4 Knl0642 45 «DKn52 410 4 7653 a4
v 9432 vDKn75 v Kn9 vE10875 v52 vE8
+98 + KKn75 ¢KKn2 ¢ E984 + D109 + EKKn8653
#Kn8 #EK63 #10765 &ED3 #DKn105 #E43
« EK83 « K9764 « EKD2
v K10 v K63 vD764
¢ ED102 ¢ 105 ¢ 72
&542 £982 *K86
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
3 10 3NS= +9 400 80 00|11 2 INO+1 43 -120 80 00| 8 5 3vyN= *A 140 6.0 2.0
9 4 INN+1 +5 120 50 3.0 3 10 2¢ O+2 a4 -130 6.0 20| 9 4 3vyN= ¢ A 140 6.0 2.0
11 2 INS+1 43 120 50 3.0 8 5 2v0O+1 46 -140 40 40|11 2 3vyN= 43 140 6.0 2.0
8 5 2&4N= a5 90 20 60| 9 4 2NV+1 +6 -150 20 6.0|12 1 4vS-1 v9 -50 2.0 6.0
12 1 24 O0-1 s A 50 00 80|12 1 24DS-3 ¢ A -800 0.0 80| 3 10 4¢DO+1 &A -910 0.0 8.0
7 - 5.3 7 - 5.3 7 - 5.3
4 4 8653 5 486 6 &« K7542
Vast v10 Nord v Kn95 Ost v 85
Alla ¢ Kn63 NS + EDKn54 ov ¢ K87
#Kn10873 743 &E109
4 EKKNn2 41074  EDKn10532 « E98 « DKn106
vDKn97 v6432 v E86 v3 vK3 v 9764
+D10852 +¢9 + K92 + 108 463 + D1052
#E9542 #K8652 #DKnl0 #KKn7652 #8
«D9 497 43
v EK85 vKD10742 v EDKn102
¢ EK74 ¢ 763 ¢ EKn94
£#KD6 &E9 &D43
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr ut Res  Poang
1 3 2NS+1 s A 150 80 0010 5 34 O+3 *A -230 8.0 0.0| 4 11 3NN+1 8 430 7.0 1.0
12 2 la V= vT -80 6.0 20| 1 3 440= vK -420 50 3.0|/10 5 3NN+1 «8 430 7.0 1.0
10 5 2NS-1 aA -100 40 40| 4 11 44 0= A -420 50 30| 1 3 2vS= &5 110 40 4.0
8 7 2NDN-1 vQ 200 2.0 6.0| 8 7 44 O+2 vK -480 10 7.0 8 7 3NN-1 «Q -50 1.0 7.0
4 11 3vDO= &K -730 0.0 8.0|12 2 44 O+2 vK -480 10 7.0|12 2 4vS-1 »5 -50 1.0 7.0
9 - 3.9 9 - 3.9 9 - 3.9
7 LY 8 « D742 9 & Kn3
Syd vE10763 Vast v 84 Nord v K1065
Alla ¢+ D92 Ingen 492 ov 498762
#E1072 #KD1082 &E9
41097654 & EDKnN8 & Kn9g8 «ED97 #4K65
v K4 v2 vDKn965 v EK72 vE94  vDKn8
4653 ¢+ Kn74 + Kn7 +DKn3 ¢K
#Kn3 +KD864 #EKn54 #1086 #KDKn432
4 K3 « EK10 410842
v DKn985 v 103 v732
+ EK108 ¢ K108654 ¢ E1054
#95 97 &75
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
2 4 4v S+1 a4 650 6.0 20| 9 8 4v V-1 2 50 80 00| 2 4 3NV+2 +9 -660 4.0 4.0
5 1 4v S+1 aT 650 6.0 20| 2 4 3&#N-2 vK -100 6.0 20| 5 1 3NV+2 a4 -660 4.0 4.0
12 3 4v S+1 a4 650 6.0 20| 5 1 3vO= aA -140 3.0 50| 9 8 3NV+2 +9 -660 4.0 4.0
9 8 4vS= oT 620 20 60|10 7 3vV= +9 -140 3.0 50|10 7 3NV+2 v5 -660 4.0 4.0
10 7 44 V-2 v3 200 0.0 80|12 3 4v V= &K -420 0.0 8.0| 12 3 3NV+2 v7 -660 4.0 4.0
11 - 4.0 1 - 4.0 1 - 4.0
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10 « KKn9876 11 107 12 « Kn10732
Ost vKn9 Syd v DKn84 Vast v732
Alla * K2 Ingen + EK104 NS + Kn10864
742 &E82 »-
@- 4 E1042 4954 & EDKn62 « E8 &« KD9
v K86532 vED104 v9 v EK76 v EKn9865 vK10
¢ E1064 ¢ Kn95 4652 ¢ DKn7 ¢+5 + D73
#EKnN9 »86 #DKn9765 #4 #EK83 #D10962
« D53 # K83 # 654
v7 v 10532 vD4
+ D873 4983 ¢ EK92
#KD1053 K103 #Kn754
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 9 44DN-2 vA 500 8.0 00| 3 5 440-1 v2 50 80 0010 9 4vV+1 +8 -450 7.0 1.0
11 8 4v V= v9 620 50 30| 1 7 2vyN-1 &4 50 5.0 3.0|11 8 4vV+1 +J -450 7.0 1.0
12 4 4v V= vJ 620 50 3.0|11 8 INS-1 49 -50 5.0 30|12 4 4y V+2 +J -480 4.0 4.0
1 7 4v V+l a7 -650 2.0 6.0|12 4 14 O+1 +9 -110 20 6.0 1 7 4v V+3 a2 -510 2.0 6.0
3 5 4vV+2 + K -680 0.0 80|10 9 1a O+2 +3 -140 00 80| 3 5 640= *A -920 0.0 8.0
- 2 4.2 - 2 4.2 - 2 4.2
13 + K106 14 « Kn8 15 « DKn74
Nord v 1064 Ost v D972 Syd vKn94
Alla ¢ K32 Ingen 497432 NS + D1052
#EKn107 #Kn10 82
4972 « ED543 432 41096 4 E108532 49
vKn73 8 vK843  vE105 vED7 v 1082
¢ E1065 ¢974 ¢ EDKn8 ¢ 65 + EKn 4984
*K52 #D986 *E73 #KD965 »106 #EKD754
& Kn8 « EKD754 » K6
v EKD952 vKn6 v K653
¢ DKn8 + K10 + K763
43 #3842 #Kn93
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 9 4v S= *2 620 50 3.0|11 10 1la S= +Q 80 80 00 1 9 24V= ¢+5 -110 6.0 2.0
2 8 4v S= 49 620 50 30( 1 9 24S-1 &3 -50 5.0 30| 2 8 24V= a7 -110 6.0 2.0
7 3 4v S= *A 620 50 30| 7 3 24S-1 *A 50 50 30| 7 3 2eV= v4a -110 6.0 2.0
12 5 4v S= v2 620 50 30|12 5 34 S- A -100 2.0 6.0| 11 10 24 V+2 ¢+5 -170 2.0 6.0
11 10 4v S-1 *A -100 0.0 80| 2 8 3#0= aA -110 0.0 80|12 5 3NO+1 v5 -430 0.0 8.0
4 - 3.6 4 - 3.6 4 - 3.6
16 « DKn542 17 « D102 18 #« EKn
Vast vKn105 Nord vKn932 Ost v 9853
ov ¢+ ED75 Ingen + 1098 NS ¢ 752
&9 K97 #KD9%4
4 K8 a7 48764  &K3 « K92 410875
v K97 v 86432 vED105 v84 vK10762 v EKn
¢ 1084 4962 4652 + KKn743 410983 ¢ KD4
#KDKn83 #E765 D2 #10653 &8 »Kn762
« E10963 « EKN95 « D643
vED vK76 vD4
¢ KKn3 ¢ED ¢ EKn6
#1042 &EKN84 &E1053
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 9 44 S+1 v7 450 70 10| 8 4 3NS+2 8 460 80 00| 2 10 INN+1 a2 120 8.0 0.0
8 4 44 S+1 &K 450 70 10| 2 10 3NN+1 +3 430 50 30| 1 11 24S+1 &8 110 6.0 2.0
1 11 44 N= 8 420 30 50 5 7 3NS+1 8 430 50 30| 5 7 INO-2 a4 100 40 4.0
2 10 44 S= *] 420 30 50 1 11 3NS= vT 400 20 6.0| 3 9 INN= *T 90 10 7.0
5 7 24S-1 &K 50 0.0 80| 3 9 INSH+3 8 180 00 80| 8 4 INS= *T 90 10 7.0
12 - 2.9 12 - 2.9 12 - 2.9
19 a2 20 4 K95 21 K106
Syd v EKn1092 Vast v 86 Nord vD2
oV + K9 Alla ¢ DKn53 NS ¢ Kn87
#KKn1092 #E652 £97532
4« Kn94 « D10863 842 «ED10 4DKn8 &E7
vD7 v 6543 vE v KDKn102 v EK107 vKn943
+D10542 ¢73 4109862 ¢ K74 ¢+ KD2 4 109653
#ED6 &73 #Kn943 #K10 #EKN10 #D8
# EK75 & Kn763 495432
vK8 v 97543 v 865
+ EKn86 ¢ E ¢ E4
#854 D87 K64
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
12 7 3NS+3 2 490 80 00| 3 11 1vO+1 *A -110 6.0 20| 4 10 INV+3 *9 -180 8.0 0.0
3 11 3NS+2 2 460 50 3.0 4 10 1v O+1 *A -110 6.0 20| 3 11 4v V+1 46 -450 4.0 4.0
9 5 3NS+2 2 460 50 30| 9 5 1vO+1 3 -110 6.0 20| 9 5 4v V+l »2 -450 4.0 4.0
2 1 3NS+1 46 430 20 60| 2 1 INO+1 *7 120 20 6.0|12 7 4v V+l *9 -450 4.0 4.0
4 10 2N S +2 +5 180 00 80(12 7 INO+4 a3 -210 0.0 80| 2 1 4vV+2 &3 -480 0.0 8.0
- 8 3.6 - 8 3.6 - 8 3.6
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I PONOR

OAMDMO
coooo

& KKn103 23 & K9 24 & Knl0
v Kn752 Syd v Kn87 Vast v EKn10842
+ Kn6 Alla ¢ 654 Ingen + 106
972 #DKn643 D43
6542 « E87 & D762 & Knl1043 « K98632 «ED75
v63 v EKD84 vD3 v E952 v K9 v D73
¢ K3 +E9 ¢ KKn9732 +8 + D9 + 843
&#KD643 #E108 &9 &E1087 &E65 &#KKn2
D9 4 E85 a4
v109 v K1064 v 65
+ D1087542 ¢+ ED10 ¢ EKKn752
»Knb »K52 10987
Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poan
4y O +2 vT -680 8.0 00| 5 11 INS+2 +3 150 70 10| 4 1 4eV-1 +6 50 8.0
3N O +3 +5 690 6.0 20| 7 9 INS+2 +3 150 70 10| 5 11 4e V= T -420 4.0
3N O +4 *2 -720 3.0 50|12 8 INS+1 *2 120 40 40| 7 9 4e V= vA -420 4.0
3N O +4 *2 -720 3.0 50| 4 1 24 V+1 &Q -140 2.0 60|12 8 44 V= *T -420 4.0
6N O = *2 -1440 00 80| 3 2 3NS-2 ¢ 200 0.0 80| 3 2 44 V+1 vA -450 0.0
4.0 10 - 4.0 10 - 4.0
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